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[HEFERFRERER( JbhE )
(SFM6E10A31BIRAE)

I BREHE

1 KIEEDDIEXZK (FREEHE) (Bfir: b))
F 23 BREHE 1 % 2 % 3 % Higsn
6 F &E 601,727 82.0% 15.8% 1.5% 0.7%
5 & & 619,089 37.1% 38.0% 22.9% 2.1%
4 F E 632,927 79.5% 18.8% 1.0% 0.7%
3 F & 641,233 84.6% 14.0% 0.8% 0.6%
2 F E 666,433 78.8% 19.2% 1.3% 0.7%
T OFE E 658,788 55.2% 38.5% 5.3% 1.0%

CENHHEEICIIBRERELRV-FRETT,
GE2) TEEMNSSEEICOVTIL., ABSHOBREEETY,
GE3)TOURDBEFBRTEHENRDEAN—HLGENZEAHBYET, (LLTRIL)

2 HWBIEE (FEREE) (B b))
fniE A BEHE 1 % 2 = 3 % gt
a Y kb AH Y 337,319 78.6% 19.5% 1.4% 0.5%
bl R AN 74,912 87.9% 11.0% 1.0% 0.1%
el d Bl 24,291 98.1% 1.6% 0.1% 0.2%
NFT I FE Y 21,858 92.0% 5.4% 1.2% 1.3%
A F B 20,863 86.6% 11.0% 1.6% 0.7%
W H & D IF 18,864 90.7% 8.4% 0.7% 0.2%
T A = m < 13,531 91.1% 6.6% 1.9% 0.4%
o T H MY 12,365 69.2% 29.3% 1.1% 0.3%
v v < F A 9,827 89.0% 9.4% 1.6% 0.1%
Lo ELHE 8,934 75.3% 22.4% 2.1% 0.2%
= = E 8,866 97.3% 2.4% 0.2% 0.0%
H = = MY 7,747 88.0% 7.3% 1.1% 3.5%
W s F £ h 6,930 95.2% 4.3% 0.4% 0.1%
T A Z 3 Y 6,088 96.1% 3.5% 0.3% 0.2%
H T IEFEDKEE 5,798 78.7% 18.5% 2.7% 0.1%
SLxF—O4—2 4,445 73.5% 23.6% 1.9% 0.9%
H T £ b b 2,165 44.0% 37.5% 18.5% 0.0%
2<KI¥sD2E 1,502 84.6% 14.4% 1.0% -
=] N i 1,287 73.3% 24.9% 1.1% 0.8%
2 (AR 905 89.6% 3.9% 0.2% 6.2%
5 T & O Y 817 73.9% 25.4% 0.4% 0.3%
1 ¢ s 6 & 743 8.5% 60.5% 30.9% 0.1%
P S5 FE L2 1 707 86.2% 10.6% 3.2% 0.1%
v E D IF h 606 64.7% 30.1% 5.2% -
wp N B 603 73.1% 26.8% 0.1% 0.0%
*+ X B H Y 582 39.0% 48.3% 12.6% -
¥ B &# oY 543 93.8% 6.1% - 0.1%
BE ZE 0 H Y 486 88.9% 9.3% 1.2% 0.7%
4 2 E H Y 261 67.1% 32.7% 0.2% -
NATYyREST538 220 75.9% 24.1% - -
Iz Z F 5 216 99.2% - 0.8% -
[ N = I Sy B 4 216 10.7% 87.4% 0.9% 1.0%
x 5 0 # 205 86.9% 8.0% 5.0% -
& DOV Y 194 100.0% - - -
E & B F 158 47.1% 37.5% 12.9% 2.5%
H =12 F b 129 76.6% 23.2% - 0.2%
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2 RWAHE (FHRRE)

(BAL: h2)

fniE BEHE 1 % 2 3 = Higs
o B n 121 37.9% 62.1% - -
i =2 & ZF 115 93.2% 4.4% 2.4% -
& 5 103 - 8.9% 91.1% -
2 Z - b 91 13.9% 77.8% 8.3% -
xF & 9 & & 88 64.0% 36.0% - -
W o s 0 FE 46 26.6% 41.3% 27.1% 4.9%
T X & 43 - - 100.0% -
#w oo s Y 40 3.2% 70.5% 26.3% -
E A & T W 34 48.8% 33.8% 17.4% -
rx W H L 28 67.2% 32.8% - -
ALK T T OO 20 100.0% - - -
& ] [0) 9 - 65.7% 34.3% -
=1 > = A 7 14.1% 85.9% - -
T Y B FE 4 100.0% - - -
maAHAUYJ v 4 - 47.2% 52.8% -
E »h v v 4 4 100.0% - - -
E AU H 3 77.8% 22.2% - -
E &% 2 1 5 3 63.3% 36.7% - -
72 2 E Hh Y 3 100.0% - - -
BE K 1 B 2 78.9% 21.1% - -
3 BE 3 2 - 100.0% - -
B H b £ A 1 - - 100.0% -
z ) fth 5778 46.1% 23.9% 9.1% 20.9%
KIEES5H K KEr 601,727 82.0% 15.8% 1.5% 0.7%
KIEHBLE XK 38,374 57.5% 37.4% 4.3% 0.8%
(B4 b))

BEHE % T E 1 % 2 % 3 % SR
BB & A X % 15,630 - 0.4% 84.4% 13.6% 1.2% 0.4%

(B k)

535 -t5-BERRKE|  655731]

3 fHAXERYE (B )

BEHE =X g
fl # A b #H 453 100.0% -
fl B A & X 24,173 99.9% 0.1%




[HM6FERBRERR( #1id )
(SFM6E10A31BIRAE)

I BREHR

- SHM6EI0AIBDKIESIAZLLRKDEEMEIL 3740 Fho 15HLLEFE(E 779 BIZH-TLET,
- 2EPTICRTFEN - HIBAIE. BRAEN 545 %, BEN 21.8 %, BEEIH 131 %, HEHRA 94 %
Lo TWVET,

I REHE

1 KIS XK (FRBREHE) (BfL: b))
e 3 BREHE 1% 2 ¥ 3 % Mg s
6 & & 373,982 77.9% 20.0% 1.6% 0.5%
5 & & 383,476 15.7% 46.8% 34.7% 2.8%
4 £ E 388,206 75.8% 23.0% 0.8% 0.4%
3 F & 391,420 79.6% 19.0% 0.9% 0.4%
2 & BE 406,082 73.2% 25.1% 1.4% 0.4%
T FE 408,031 37.1% 54.1% 7.9% 0.9%

CEDHEMEEICLIREBEREZRIV-EETT .
CE2) TEEMNSSEFEEICOVTIE, ARHADKREEETY .
CE3) TV DERTIHERNRDEFN—HBLGNIENHYES . ATRIL)

2 HWARIEE (FERRE) (B4 k)
faiE BREHE 1 % 2 % 3 % SR
a ¥ kE Hh U 222,994 73.5% 24 5% 1.7% 0.4%
L L xR = 74912 87.9% 11.0% 1.0% 0.1%
o Z B 24,291 98.1% 1.6% 0.1% 0.2%
= A F E 20,863 86.6% 11.0% 1.6% 0.7%
o T H MY 8,645 61.0% 37.2% 1.5% 0.3%
CLDELHE 8,128 73.5% 24.0% 2.3% 0.2%
& T IEDEE 5,798 78.7% 18.5% 2.7% 0.1%
X —94—> 1,925 53.3% 41.2% 3.9% 1.7%
5 F & O Y 817 73.9% 25.4% 0.4% 0.3%
1 ¢ s 6 =& 678 3.5% 64.0% 32.5% 0.1%
W T D 603 73.1% 26.8% 0.1% 0.0%
¥ B # @Y 543 93.8% 6.1% - 0.1%
H = b b 460 43.4% 49 5% 7.1% 0.0%
F X E A Y 430 22.3% 60.6% 17.1% -
v E D IF h 371 74.0% 25.5% 0.5% -
FF DO XD+ 216 10.7% 87.4% 0.9% 1.0%
£ 3 0 #® 195 86.2% 8.4% 5.3% -
HhEf-F B 114 77.1% 22.9% - -
& 12 83 - - 100.0% -
o B n 56 - 100.0% - -
W 0 5 O T 46 26.6% 41.3% 27.1% 4.9%
T X - 43 - - 100.0% -
oo M B Y 40 3.2% 70.5% 26.3% -
x # H L 28 67.2% 32.8% - -
2 Z Z 5 24 4.8% 95.2% - -
E A E W 17 15.8% 48.9% 35.3% -
T =1 - = A 6 - 100.0% - -
Y EF 4 100.0% - - -
mAHAUY v 4 - 47.2% 52.8% -
& & [0} 4 - 22.7% 77.3% -

_4_




2 WWERIEE (EHRRE) (B k)
fniE BEHE 1 % 2 3 = Higs
EAh U R 3 77.8% 22.2% - -
E % 1 5 2 78.9% 21.1% - -
E3 B 3 2 - 100.0% - -
x z2 & = 2 100.0% - - -
z ) b 1,637 26.9% 20.0% 7.5% 45.6%
KFEDDH R KET 373,982 77.9% 20.0% 1.6% 0.5%
KDL XK 31,516 55.3% 39.6% 4.3% 0.9%
(B4 k)
BREH=E % L B E 1 % 2 % 3 % BRigst
B o A X % 9,272 - 0.3% 79.9% 17.8% 1.4% 0.5%
(B b))
[5%5-t6-BERRKE]  414,770|
3 MM AXERKE (B k)
BREH=E =X gt
AL 19 100.0% -
f B A X XK 12,693 100.0% 0.0%




I REHR

SHOFEEXRBRERR( EWL )
(SF6E10831BIRE)

- SHGEI0AIIHREDKIESIDILLKDHEEHE(L 955 Fho, 1FHEIK 89.7 %IZHLTLVET,
s 2ZHLTICHRAMITESh=ERERIL, FEA 436 %, BHRATEH 265 %, F2EH 188 %, HEHIA 101 %

Lo TLVET,
I ®REH=E

1 KFEIDELZ K (FREEHRE) (B b))
F [ BREHE 1 % 2 % 3 % SR
6 F E 95,490 89.7% 9.0% 1.2% 0.1%
5 F E 98,207 58.1% 35.5% 6.1% 0.2%
4 & E 104,147 86.3% 12.6% 0.9% 0.2%
3 & E 107,230 93.6% 5.7% 0.5% 0.2%
2 £ E 116,212 89.3% 9.7% 0.9% 0.2%
T F E 110,650 84.5% 14.3% 0.9% 0.3%

CEDHEMEEICLIREMEZRIVEETY .
CE2)TEEMNCSEEITOVTIE. ABFHOBRERETYT,
CEI)TVUF DB TIHERNRDEN—HLGNWIENHYET , (LTEL)

2 SHWAIHE (FHRRE)

(BfI: ko)

faiE BREHE 1 % 2 3 % g
a Y kb AH Y 59,866 89.3% 10.0% 0.6% 0.1%
T A = m < 13,531 91.1% 6.6% 1.9% 0.4%
= = = 8,866 97.3% 2.4% 0.2% 0.0%
T A 2 %Y 6,088 96.1% 3.5% 0.3% 0.2%
2<IEsD25& 1,502 84.6% 14.4% 1.0% -
H = I bHh b 1,490 36.1% 39.2% 24.7% -
SLxF—4—2 1,347 93.2% 6.6% 0.2% -
o T H MY 814 84.6% 15.3% 0.1% -
P S5 FE L2 1 703 86.1% 10.6% 3.2% 0.1%
< Z F % 128 100.0% - - -
O & H 1T h 19 100.0% - - -
H =T & Y 11 100.0% - - -
& 5 11 - - 100.0% -
2 Z - 5 7 - 100.0% - -
H = F b 4 - 93.5% - 6.5%
E A £ T W 3 100.0% - - -
E b b £ A 1 - - 100.0% -
7 9t Hh Y 1 100.0% - - -
z D ith 1,097 77.1% 16.9% 4.1% 1.9%
KIEESDHH X KET 95,490 89.7% 9.0% 1.2% 0.1%
KiHbH X XK 3,381 69.6% 26.6% 3.5% 0.3%
(B bo)
BEHE % T OE 1 % 2 = 3 = g
B s A %X X 2,783 - - 95.4% 4.0% 0.6% 0.0%
(B o)
15%56 456 -BEERAKRXE]  101,655]
3 MM AXERBE (B ko)
BEHE =X FSTLi-RA
AL A 400 100.0% -
f B A X XK 5,267 100.0% -




I BREHR

STH6FEXRFEERR( B )
($F6E108318ITHE)

- FH6FI0AINHREDKIESIILLKDEEHE(L 688 T, 1FLLEIL 87.9 %ITHHOTLVET,
s 2ZL TSRS E=ELERIX, FRAN 474 %, THEFHIA 200 %, BRAEH 173 %, BEH 130 %

EHOTWET,
I REHE

1 KFESIDbLK (ERREHE) (B b))
F i3 BREH= 1 % 2 % 3 % Higs
6 & E 68,822 87.9% 10.3% 1.3% 0.5%
5 & E 73,546 79.7% 18.2% 1.7% 0.4%
4 £ E 74,732 82.1% 16.1% 1.3% 0.4%
3 F E 76,678 91.3% 7.9% 0.5% 0.3%
2 & E 76,131 87.4% 10.8% 1.1% 0.7%
3T O OE 72,364 84.0% 14.5% 1.0% 0.6%

CEVDHEMEEICLIREBEREZRIV-EETT .
CE2) TEEMNSSFEICOVTIL. ABHOREERETY .
CE3)FVURDERTIHERNRDEFN—HBLGNENHYES . ATRIL)

2 SWRIHE (FRRE)

(B b)

sniE BEHE 1 % 2 = 3 % g
a ¥ kE h Y 32,967 87.6% 11.0% 1.1% 0.2%
W H H D IF 18,864 90.7% 8.4% 0.7% 0.2%
O » < F AR 9,827 89.0% 9.4% 1.6% 0.1%
o T H MY 2,264 89.6% 9.9% 0.3% 0.2%
NTF I FE Y 1,121 86.3% 9.4% 4.2% 0.2%
TLDELHE 806 93.3% 6.7% - 0.0%
SLF—914—=2 575 75.8% 22.3% 1.6% 0.4%
BE E 0~ Y 486 88.9% 9.3% 1.2% 0.7%
H = £ b b 215 100.0% - - -
E &£ B = 158 47.1% 37.5% 12.9% 2.5%
v & H T h 143 54.9% 27.0% 18.1% -
5| i & 127 99.4% 0.6% - -
2 - - 5 39 - 100.0% - -
< Z F 3 22 91.9% - 8.1% -
E A & T W 14 77.0% 23.0% - -
H =12 F b 11 100.0% - - -
E A O # 10 100.0% - - -
& 12 9 - 100.0% - -
PS5 FE L2 1 4 100.0% - - -
2 M 2 1 B 3 63.3% 36.7% - -
59 D it 1,157 48.2% 22.2% 9.6% 20.1%
KIESDHH X KET 68,822 87.9% 10.3% 1.3% 0.5%
KiEdHbE XK XK 2,112 54 5% 36.7% 7.8% 1.1%
(Bfar: bo)
BREHE % b HE 1 % 2 % 3 % Higst
BB & A & % 1,010 - 2.0% 79.2% 17.9% 0.6% 0.3%
(B L k)
555 - 45 - Bt A % K 5t 71,944)
3 FIMAXERBE (B L k)
BREH=E =X gt
flH AL A& 32 100.0% -
g ¥ A X K 1,739 99.3% - 0.7%




I BmE#R

FH6FERBRERRE( BH )
(HHM6E10A31BIRAE)

- SH6EI0AIIHREDKIESIDILLKDHEEHNE(L 634 Fho, 1F LK 886 %IZHOTLVET,
- 2EL TR FEN-EHERE. BEAEN 375 %, EEAHA 298 %, BN 18.7 %, FHEHIA 126 %

EHoTLWET,

I BREHE

1 KIiESEXXK (ERBREHE) (BAfi: b)
F = BREH=E 1 % 2 % 3 % HE
6 F E 63,433 88.6% 7.8% 1.3% 2.4%
5 F & 63,859 84.1% 11.5% 2.3% 2.2%
4 % 65,842 87.7% 7.0% 1.9% 3.4%
3 ¥ E 65,905 91.9% 4.4% 0.6% 3.0%
2 F E 68,008 85.3% 10.1% 1.4% 3.2%
T E 67,743 85.2% 10.2% 1.5% 3.1%

T
CEDHEMEEICRIREREZRIVEETY .

(E2) TEEMDEEEITONTIE. ABPORERMTT,
(£3) 5L FOBFCHENRDE A —BLAELNZERBYES . (UTRL)

2 SIRRINE (SHBE)

(B b))

migf REH= 1 % 2 % 3 % ST
a3 Y kb hH Y 21,491 88.5% 7.5% 0.9% 3.0%
N T T F 20,737 92.3% 5.2% 1.1% 1.4%
Hh = = Y 7,735 88.0% 7.4% 1.1% 3.5%
W 5 T F h 6,930 95.2% 4.3% 0.4% 0.1%
H S & 1,160 70.4% 27.5% 1.2% 0.8%
A IN— ) 905 89.6% 3.9% 0.2% 6.2%
o E&F H MY 640 89.4% 10.3% 0.1% 0.2%
| e e e 599 92.4% 6.6% 0.1% 0.9%
4 9 E H Y 261 67.1% 32.7% 0.2% -
NATYyREST538 220 75.9% 24.1% - -
HF D UL Hh Y 194 100.0% - - -
¥ X E H Y 151 86.7% 13.3% - -
T z2 & & 113 93.1% 4.5% 2.4% -
F & ¥ & & 88 64.0% 36.0% - -
D EH F h 74 27.9% 67.0% 5.1% -
I~ Z FF 3 66 100.0% - - -
Eol B Ji| 65 70.2% 29.8% - -
1 C S 6 & 65 60.8% 24.7% 14.6% -
2 - - 5 21 53.6% 11.3% 35.1% -
AL T T OH 20 100.0% - - -
% & [0} 5 - 100.0% - -
E Hh v Vv A 4 100.0% - - -
72 97 B A 2 100.0% - - -
=& - = A 1 100.0% - - -
z ) fth 1,886 43.4% 32.6% 13.0% 11.1%
KIESDHH K KET 63,433 88.6% 7.8% 1.3% 2.4%
Kitgd s R X 1,364 84.1% 14.0% 1.8% 0.1%
_ (BT ko)

BREHRE 5 b B E 1 % 2 % 3 % g5
B s A % X 2,565 - 0.4% 90.6% 7.4% 1.5% 0.2%

(Bifi: b))

1525 -5 -EE A% K| 67,362]

3 fRAXRERNE _ (BifT: b))

BREHE =X g
AL 3 100.0% -
f # A % XK 4474 100.0% 0.0%




